
BOLLETTINO UNIONE MATEMATICA ITALIANA

BOŽENA MIHALÍKOVÁ

Some properties of neutral differential systems equations

*Bollettino dell'Unione Matematica Italiana, Serie 8, Vol. 5-B (2002),
n.2, p. 279–287.*

Unione Matematica Italiana

[<http://www.bdim.eu/item?id=BUMI_2002_8_5B_2_279_0>](http://www.bdim.eu/item?id=BUMI_2002_8_5B_2_279_0)

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

Some Properties of Neutral Differential Systems Equations (*).

BOŽENA MIHALÍKOVÁ

Sunto. – *Nel lavoro vengono esaminate le caratteristiche oscillatoriche delle soluzioni dei sistemi di equazioni differenziali di tipo neutro.*

Summary. – *We study oscillatory properties of solutions of the system of differential equations of neutral type.*

In this paper we consider systems of neutral differential equations of the form:

$$(1) \quad \begin{aligned} (x_1(t) - p_1 x_1(t - \tau_1))' &= a_1(t) f_1(x_2(g_2(t))) \\ (x_2(t) - p_2 x_2(t - \tau_2))' &= a_2(t) f_2(x_1(g_1(t))) \end{aligned}$$

The following conditions are assumed to hold without further mention:

- (a) $p_i, \tau_i, i = 1, 2$ are positive numbers, $0 < p_i \leq 1, i = 1, 2$;
- (b) $a_i \in C(R_+, R_+), i = 1, 2$ are not identically zero on any subinterval $[T, \infty) \subset [0, \infty)$ and

$$\int_{t_0}^{\infty} a_1(s) ds = \infty;$$

(c) $g_i \in C(R_+, R_+)$ is a nondecreasing function, $\lim_{t \rightarrow \infty} g_i(t) = \infty, i = 1, 2$ and $g_1(t) \leq t, g_2(t) + \tau_2 < t$;

(d) $f_i \in C(R, R)$ is a nondecreasing function, $f_i(u) u > 0$ for $u \neq 0$ and

$$\liminf_{u \rightarrow 0} \frac{f_i(u)}{u} > 0, \quad i = 1, 2.$$

(*) The paper has been supported by the grand Vega no. 1/7466/20.

For any $x_i(t)$ we define $u_i(t)$ by

$$(2) \quad u_i(t) = x_i(t) - p_i x_i(t - \tau_i), \quad i = 1, 2.$$

For $t_0 \geq 0$ we define

$$t_1 = \min \left\{ t - \tau_i, \inf_{t \geq t_0} g_i(t), i = 1, 2 \right\}.$$

A vector function $\mathbf{x} = (x_1, x_2)$ is defined to be a solution of the system (1) if there exists a $t_0 \geq 0$ such that $\mathbf{x}$ is continuous on $[t_1, \infty)$, $u_i(t)$, $i = 1, 2$ are continuously differentiable on $[t_0, \infty)$ and $\mathbf{x}$ satisfies system (1) on $[t_0, \infty)$.

As it is customary, we restrict our attention to those solution $\mathbf{x} = (x_1, x_2)$ of the system (1) which satisfy

$$\sup \{ |x_1(t)| + |x_2(t)| : t \geq T \} > 0 \quad \text{for any } T \geq 0$$

(the so-called proper solution). Such a solution is defined to be nonoscillatory if there exists a $T_0 \geq 0$ such that its every component is different from zero for all $t \geq T_0$. Otherwise a solution $\mathbf{x}$ is defined to be oscillatory.

Surveying the rapidly expanding literature devoted to the study of oscillatory and asymptotic properties of neutral differential equations, one finds that few papers concern systems of neutral equations (for example [4]). In this paper we give theorems on the relation between boundedness and oscillation of components of solutions for the system (1). These criteria extend those introduced in [5, 6].

We start with a preliminary analysis of the asymptotic behavior of possible nonoscillatory solution of (1).

Let $\mathbf{x} = (x_1, x_2)$ be a nonoscillatory solution of the system (1). Then from (1), $u_i(t)$, $i = 1, 2$ are eventually monotone, so that $u_i(t)$ have to be of constant sign. Therefore, either

$$(3) \quad x_i(t) u_i(t) > 0, \quad i \in \{1, 2\}$$

or

$$(4) \quad x_i(t) u_i(t) < 0, \quad i \in \{1, 2\}$$

for all sufficiently large t . Denote by N^+ [or N^-] the set of components of all nonoscillatory solutions (x_1, x_2) of system (1) such that (3) [or (4)] is satisfied.

LEMMA 1. — *Let $x_i \in N^+$, $i \in \{1, 2\}$. Then for every $T \geq t_0$ and every integer $n > 0$ there exists $T_n \geq T$ such that $t - n\tau_i \geq T$, $i = 1, 2$ and*

$$(5) \quad |x_i(t)| \geq \sum_{j=0}^n p_i^j |u_i(t - j\tau_i)|.$$

PROOF. – Using the relation

$$x_i(t) = u_i(t) + p_i x_i(t - \tau_i)$$

repeatedly, we find

$$|x_i(t)| = \sum_{j=0}^n p_i^j |u_i(t - j\tau_i)| + p_i^{n+1} |x_i(t - (n+1)\tau_i)| \geq \sum_{j=0}^n p_i^j |u_i(t - j\tau_i)|$$

for $t \geq T_n$ as claimed. ■

LEMMA 2. – Let $x_i \in N^-$, $i \in \{1, 2\}$. Then for every $T \geq t_0$ and every integer $n > 0$ there exists $T_n \geq T$ such that

$$(6) \quad |x_i(t)| \geq \sum_{j=1}^n \frac{|u_i(t + j\tau_i)|}{p_i^j}.$$

PROOF. – Using the relation

$$x_i(t) = \frac{x_i(t + \tau_i) - u_i(t + \tau_i)}{p_i}$$

repeatedly, we find

$$|x_i(t)| = \frac{|x_i(t + (n+1)\tau_i)|}{p_i^{n+1}} + \sum_{j=1}^n \frac{|u_i(t + j\tau_i)|}{p_i^j} \geq \sum_{j=1}^n \frac{|u_i(t + j\tau_i)|}{p_i^j}. \quad \blacksquare$$

LEMMA 3. – Let $x_i \in N^-$, $i \in \{1, 2\}$ and $0 < p_i < 1$. Then $\lim_{t \rightarrow \infty} u_i(t) = 0$, $\lim_{t \rightarrow \infty} x_i(t) = 0$, $i \in \{1, 2\}$.

PROOF. – Without loss of generality we assume that $x_i(t) > 0$, $u_i(t) < 0$ for $t \geq t_0$. Using (2) we obtain

$$x_i(t) < p_i x_i(t - \tau_i) < p_i^2 x_i(t - 2\tau_i) < \dots < p_i^n x_i(t - n\tau_i)$$

for $t \geq t_0 + n\tau_i$, $i = 1, 2$, which implies that $\lim_{t \rightarrow \infty} x_i(t) = 0$. Consequently we get $\lim_{t \rightarrow \infty} u_i(t) = 0$. ■

THEOREM 1. – Assume that (a)–(d) hold and $0 < p_i < 1$, $i = 1, 2$. Let there exist integer numbers $n \geq 0$, $m \geq 0$ such that

$$(7) \quad \limsup_{t \rightarrow \infty} \int_{g_1(t)}^t a_2(s) \int_{g_1(t)}^s a_1(v) dv ds >$$

$$\frac{1 - p_1}{1 - p_1^{n+1}} \frac{1 - p_2}{1 - p_2^{m+1}} \limsup_{u \rightarrow 0} \frac{u}{f_1(u)} \limsup_{v \rightarrow 0} \frac{v}{f_2(v)}.$$

Then every solution of (1) with a bounded first component is oscillatory or $x_i(t)$, $i = 1, 2$ tend monotonically to zero as $t \rightarrow \infty$.

PROOF. – Let $\mathbf{x} = (x_1, x_2)$ be a nonoscillatory solution of (1) with the bounded first component. Without loss of generality we may assume that $x_1(t) > 0$, $x_1(g_1(t)) > 0$ for $t \geq T$.

1. Assume first that $x_1 \in N^+$ for $t \geq T$ ($x_1 > 0, u_1 > 0$).

a) Let $x_2 \in N^+$ and $x_2(t) > 0$, $x_2(g_2(t)) > 0$ for $t \geq t_0 \geq T$. From the second equation of (1) we get that $u_2(t)$ is an increasing function, therefore there exists $t_1 \geq t_0$ such that $u_2(g_2(t)) \geq c > 0$ for $t \geq t_1$. Taking into account Lemma 1 (for $i = 2, n = 0$) we obtain $x_2(g_2(t)) \geq u_2(g_2(t)) > c$, $t \geq t_2 \geq t_1$. Using (d) and integrating the first equation of (1) we have

$$(8) \quad u_1(t) - u_1(t_2) \geq f_1(c) \int_{t_2}^t a_1(s) ds.$$

From (4) and (b) for $t \rightarrow \infty$ we obtain $\lim_{t \rightarrow \infty} u_1(t) = \infty$ which contradicts the boundedness of x_1 .

b) Let $x_2 \in N^+$ and $x_2(t) < 0$, $x_2(g_2(t)) < 0$ for $t \geq t_0 \geq T$. From the second equation of (1) we have that $u_2(t)$ is an increasing function, $u_1(t)$ is the decreasing function and therefore exist $\lim_{t \rightarrow \infty} u_1(t) = c \geq 0$ and $\lim_{t \rightarrow \infty} u_2(t) = d \leq 0$. We shall show that $c = 0$, $d = 0$.

Let $d < 0$. Then

$$(9) \quad \begin{aligned} x_2(g_2(t)) &= u_2(g_2(t)) + p_2 x_2(g_2(t) - \tau_2) < u_2(g_2(t)) < d \\ f(x_2(g_2(t))) &\leq f_1(d) < 0 \quad \text{for } t \geq t_1 \geq t_0. \end{aligned}$$

Integrating the first equation of (1) taking into account (b), (9) we get $\lim_{t \rightarrow \infty} u_1(t) = -\infty$, which contradicts $u_1(t) > 0$ for $t \geq t_1$.

Let $c > 0$. Then there exists a $t_1 \geq t_0$ such that for $t \geq t_1$

$$x_1(t) = u_1(t) + p_1 x_1(t - \tau_1) > u_1(t) > c > 0$$

and in view of system (1) we have

$$(10) \quad u_2'(t) > f_2(c) a_2(t), \quad t \geq t_2 \geq t_1.$$

Multiplying (10) by $\bar{A}(t) = \int_{t_3}^t a_1(s) ds$ and integrating from t_3 to t we get

$$(11) \quad \bar{A}(t) u_2(t) - \sup_{t_2 \leq s \leq t} \frac{u_2(s)}{f_1(u_2(s))} \cdot (u_1(t) - u_1(t_2)) \geq f_2(c) \int_{t_2}^t a_2(s) \int_{t_2}^s a_1(v) dv ds.$$

We obtain from (11) for $t \rightarrow \infty$ that

$$\int_{t_3}^{\infty} a_2(s) \int_{t_3}^s a_1(v) dv ds < \infty,$$

which implies that

$$\lim_{t \rightarrow \infty} \int_{g_1(t)}^{\infty} a_2(s) \int_{g_1(t)}^s a_1(v) dv ds = 0.$$

This contradicts the assumption (7). Therefore $\lim_{t \rightarrow \infty} u_1(t) = 0$.

Taking into account the monotonicity of u_1, u_2 and Lemma 1 we get

$$(12) \quad \begin{aligned} x_2(t) &< lu_2(t), & x_2(g_2(t)) &\leq lu_2(g_2(t)) \\ x_1(g_1(t)) &\geq ku_1(g_1(t)), \end{aligned}$$

for $t \geq T$ (T sufficiently large), where $l = \sum_{i=0}^m p_2^i$, $k = \sum_{i=0}^m p_1^i$. Integrating the first equation of (1) from t to s , $s \geq t$ and using monotonicity of f_1 and (12) we obtain

$$\begin{aligned} u_1(t) &\geq u_1(s) - \inf_{t \leq v \leq s} \frac{f_1(lu_2(g_2(v)))}{lu_2(g_2(v))} lu_2(s) \int_t^s a_1(z) dz \\ &\quad + \inf_{t \leq v \leq s} \frac{f_1(lu_2(g_2(v)))}{lu_2(g_2(v))} \int_t^s lu_2'(z) \int_t^z a_1(v) dv dz \\ &\geq \inf_{t \leq v \leq s} \frac{f_1(lu_2(g_2(v)))}{lu_2(g_2(v))} \int_t^s la_2(z) f_2(x_1(g_1(z))) \int_t^z a_1(v) dv dz \\ &\geq \inf_{t \leq v \leq s} \frac{f_1(lu_2(g_2(v)))}{lu_2(g_2(v))} f_2(ku_1(g_1(s))) l \int_t^s a_2(z) \int_t^z a_1(v) dv dz. \end{aligned}$$

Hence for $t = g_1(s) < s$ we get

$$(13) \quad \frac{1}{kl} \geq \inf_{g_1(s) < v < s} \frac{f_1(lu_2(g_2(v)))}{lu_2(g_2(v))} \frac{f_2(ku_1(g_1(s)))}{ku_1(g_2(s))} \int_{g_1(s)}^s a_2(z) \int_{g_1(s)}^z a_1(v) dv dz$$

which contradicts (7).

c) Let $x_2 \in N^-$, $x_2(t) < 0$. The system (1) implies that $u_2(t)$ is an increasing function and there exists $\lim_{t \rightarrow \infty} u_2(t) = a > 0$, which is contrary Lemma 3.

d) Let $x_2 \in N^-$ and $x_2(t) > 0$ for $t \geq t_0$. In view of (c), Lemma 2 ($n = 1$) and monotonicity of u_2 we obtain

$$(14) \quad x_2(g_2(t)) > -\frac{1}{p_2} u_2(g_2(t) + \tau_2) > -u_2(g_2(t) + \tau_2) > -u_2(t),$$

for $t \geq t_1 \geq t_0$.

Integrating the first equation of (1) from t_1 to t we have

$$(15) \quad u_1(t) - u_1(t_1) \geq \inf_{t_1 \leq s \leq t} \frac{f_1(-u_2(s))}{(-u_2(s))} \int_{t_1}^t a_1(s)(-u_2(s)) ds.$$

We see that $u_1 > 0$, $u_1' > 0$ for $t \geq t_1 \geq t_0$ so therefore $u_1(g_1(t)) \geq c > 0$ and $f_2(u_1(g_1(t))) \geq f_2(c)$. Using this fact and integrating the second equation of (1) from s to t , $s \geq t_1$ we get

$$(16) \quad -u_2(s) \geq u_2(t) - u_2(s) \geq f_2(c) \int_s^t a_2(z) dz.$$

Combining (16), (15) we have

$$u_1(t) - u_1(t_1) \geq \inf_{t_1 \leq s \leq t} \frac{f_1(-u_2(s))}{(-u_2(s))} f_2(c) \int_{t_1}^t a_2(z) \int_{t_1}^z a_1(s) ds dz.$$

We can proceed analogously as for the case b) the inequality (11) to get a contradiction.

2. Assume that $x_1 \in N^-$ for $t \geq t_0$. Then by Lemma 3 $\lim_{t \rightarrow \infty} x_1(t) = 0$, $\lim_{t \rightarrow \infty} u_1(t) = 0$.

a) Let $x_2 \in N^+$, $x_2(t) > 0$, $x_2(g_2(t)) > 0$ for $t \geq t_1 \geq t_0$. Then we can proceed the same way as for the case 1a) to get (8) which is contradicts the negativity of u_1 .

b) Let $x_2(t) < 0$ and $x_2 \in N^+$ or $x_2 \in N^-$. From system (1) we have that u_1 is a decreasing function and therefore exists $\lim_{t \rightarrow \infty} u_1(t) = a < 0$, which is contrary to Lemma 3.

c) Let $x_2 \in N^-$, $x_2(t) > 0$. In this case by Lemma 3 $\lim_{t \rightarrow \infty} x_2(t) = 0$. The system (1) has a nonoscillatory solution with the property $\lim_{t \rightarrow \infty} x_1(t) = 0$, $\lim_{t \rightarrow \infty} x_2(t) = 0$. ■

LEMMA 4. - Assume that $p_i = 1$, $i \in \{1, 2\}$.

a) Let $x_i \in N^-$ and $x_i(t) u_i'(t) > 0$ for $t \geq t_0$, $i \in \{1, 2\}$. Then $\lim_{t \rightarrow \infty} u_i(t) = 0$, $i \in \{1, 2\}$.

b) The system (1) has no solution with components $x_i \in N^-$, $x_i(t) u_i'(t) < 0$, $i \in \{1, 2\}$.

PROOF. – a) We assume that $x_i(t) > 0$, $u_i(t) < 0$ and $u_i'(t) > 0$ for $t \geq t_0$. The proof in the case $x_i(t) < 0$ is analogous. Then exists $\lim_{t \rightarrow \infty} u_i(t) = c \leq 0$. We suppose that $c < 0$. So there exists $t_1 \geq t_0$ such that $c < u_i(t) < c/2 < 0$. Thus using (2)

$$c < x_i(t) - x_i(t - \tau_i) < \frac{c}{2} \quad \text{for } t \geq t_1.$$

Consequently

$$x_i(t) < x_i(t - \tau_i) + \frac{c}{2} < 2 \frac{c}{2} + x_i(t - 2\tau_i) < \dots < n \frac{c}{2} + x_i(t - n\tau_i),$$

for $t \geq t_1 + n\tau_i$. Chose a sequence $\{t_n\}$ such that $t_n = t_1 + n\tau_i$. Then

$$x_i(t_1 + n\tau_i) \leq n \frac{c}{2} + x_i(t_1)$$

and therefore $\lim_{t \rightarrow \infty} x_i(t_n) = -\infty$. This is a contradiction with positivity of $x_i(t)$.

b) We suppose contrary. Let the system have a solution $x_1(t) > 0$, $x_1 \in N^-$ and $u_1'(t) < 0$ for $t \geq t_0$. The system (1) implies that $x_2(t) < 0$, $x_2 \in N^-$ and $u_2'(t) > 0$. Then there exist $\lim_{t \rightarrow \infty} u_1(t) = a < 0$, $\lim_{t \rightarrow \infty} u_2(t) = b > 0$ and there exists $t_1 \geq t_0$ such that $a < u_1(t) < a/2 < 0$, $0 < b/2 < u_2(t) < b$. Thus using (2)

$$a < x_1(t) - x_1(t - \tau_1) < \frac{a}{2} < 0$$

$$0 < \frac{b}{2} < x_2(t) - x_2(t - \tau_2) < b.$$

Consequently

$$(17) \quad \begin{aligned} x_1(t) &< n \frac{a}{2} + x_1(t - n\tau_1) \\ x_2(t) &> n \frac{b}{2} + x_2(t - n\tau_2). \end{aligned}$$

Chose sequences $\{t_n\}$, $\{t_n^*\}$ such that $t_n = t_1 + n\tau_1$, $t_n^* = t_1 + n\tau_2$ we get from the (17) that $x_1(t_n) \rightarrow -\infty$, $x_2(t_n^*) \rightarrow \infty$, $n \rightarrow \infty$, which is a contradiction with positivity of x_1 and negativity of x_2 . ■

THEOREM 2. – Assume that (a)–(d) hold and $p_i = 1$, $i = 1, 2$. Let there exist integer numbers $n > 0$, $m > 0$ such that

$$(18) \quad \limsup_{t \rightarrow \infty} \int_{g_1(t)}^t a_2(s) \int_{g_1(t)}^s a_1(v) dv ds > \frac{1}{nm} \limsup_{u \rightarrow 0} \frac{u}{f_1(u)} \limsup_{v \rightarrow 0} \frac{v}{f_2(v)}.$$

Then every solution of (1) with a bounded first component is either oscillatory or $u_i(t)$, $i = 1, 2$ tend monotonically to zero as $t \rightarrow \infty$.

PROOF. – Assume that $\mathbf{x} = (x_1, x_2)$ is a nonoscillatory solution of (1) with the positive bounded first component. We can proceed exactly as in the proof of Theorem 1. We shall discuss the possibilities 1a-d, 2a-c.

The proofs of cases 1a), 1d), 2a) are the same. In the case 1b) we are led to (12) with the constant $k = n$, $l = m$ and so to (13) with these new constants, which contradicts the assumption.

Lemma 4 implies that the cases 1c), 2b) are impossible. In the case 2c) from Lemma 4 we see that that system (1) has a nonoscillatory solution with the property $\lim_{t \rightarrow \infty} u_i(t) = 0$, $i = 1, 2$. ■

THEOREM 3. – Assume that (a)–(d) hold and $0 < p_i < 1$, $i = 1, 2$. Further assume that

$$(19) \quad \limsup_{t \rightarrow \infty} \int_{g_1(t)}^t a_2(s) \int_{g_1(t)}^s a_1(v) dv ds > (1 - p_1)(1 - p_2) \limsup_{u \rightarrow 0} \frac{u}{f_1(u)} \limsup_{v \rightarrow 0} \frac{v}{f_2(v)}.$$

Then every solution of (1) with a bounded first component is either oscillatory or $x_i(t)$, $i = 1, 2$ tend monotonically to zero for $t \rightarrow \infty$.

PROOF. – Denote $a = \limsup_{t \rightarrow \infty} \int_{g_1(t)}^t a_2(s) \int_{g_1(t)}^s a_1(v) dv ds$. Let integers n, m be chosen such that

$$a > \frac{1 - p_1}{1 - p_1^{n+1}} \frac{1 - p_2}{1 - p_2^{m+1}} \limsup_{u \rightarrow 0} \frac{u}{f_1(u)} \limsup_{v \rightarrow 0} \frac{v}{f_2(v)}.$$

Then the assertion of this theorem follows immediately from Theorem 1. ■

THEOREM 4. – Assume that (a)–(d), hold and $p_i = 1$, $i = 1, 2$. Further assume that

$$\limsup_{g_1(t)} \int_{g_1(t)}^t a_2(s) \int_{g_1(t)}^s a_1(v) dv ds > 0.$$

Thus every solution of (1) with a bounded first component is either oscillatory or $u_i(t)$, $i = 1, 2$ tend monotonically to zero as $t \rightarrow \infty$.

REMARK 1. – For the case $p_i = 0$, $i = 1, 2$ in the paper [6] and for the case $p_2 = 0$ in the paper [5] it is shown that condition (19) is sufficiently for the oscillation all solutions with a bounded first component.

REMARK 2. – If $a_1(t) = 1$, $f_i(u) = u$, $i = 1, 2$, $p_2 = 0$ the system (1) is equivalent to the differential equation

$$(x(t)) - p x(t - \tau)' - a(t) x(g(t)) = 0.$$

Theorem 1,2 give results for this equation in paper [2].

REFERENCES

- [1] D. D. BAINOV - D.P. MISHEV, *Oscillation Theory for Neutral Differential Equations with Delay*, Adam Hilger, 1991.
- [2] J. DŽURINA - B. MIHALÍKOVÁ, *A note on unstable neutral differential equations of the second order*, Fasciculi Mathematici (to appear).
- [3] L. H. ERBE - Q. KONG - B.G.ZHANG, *Oscillation Theory for Functional Differential Equations* Dekker, New York, 1995.
- [4] P. MARUŠIAK, *Oscillatory properties of functional differential systems of neutral type*, Czech. Math. J., **43** (1993), 649-662.
- [5] B. MIHALÍKOVÁ - J. DŽURINA, *On the oscillation of bounded solutions of systems of neutral differential equations*, Proceedings of the International Scientific Conference of Mathematics, Žilina, 1998, 189-194.
- [6] N. V. VARECH - V. N. SHEVELO, *Some properties of solutions of the differential system with deviating argument*, Ukrainian. Mat. J., **34** (1982), 1-8.
- [7] E. ŠPÁNIKOVÁ, *Oscillatory properties of the solutions of differential system of neutral type*, Archivum Math., **29** (1993), 177-185.
- [8] E. ŠPÁNIKOVÁ, *On oscillation of neutral differential systems*, Proceedings of the International Scientific Conference of Mathematics, Žilina, 1998, 249-255.

Božena Mihalíková: Department of Mathematical Analysis, Faculty of Sciences
Šafárik University, Jesenná 5, 041 54 Košice, Slovakia
e-mail: mihaliko@science.upjs.sk